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Problem Solving at the Amusement Park

Admission to the amusement park is $1.50. Every ride costs 
50 cents.

1. Romesh and his two sisters all went to the amusement park. They
each rode two rides. They each bought a bag of popcorn for
25 cents. How much money did they spend altogether? Show or
tell how you found your answer.

2. Ana and Mary together spent $12.00. How many rides did they go
on? Explain how you know.

3. John started his day at the amusement park with $10.00. He went
on four rides. He also spent 15 minutes at the batting cage that
cost $1.00 for five minutes. Then he went home.

A. How much money did he have left? Show or tell how you solved
the problem.

B. John wants to go back to the amusement park tomorrow. He said
he can go on 7 rides. Do you agree with John? Why or why not?
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